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MLE. (Mechanical Engineering)/A

The minimum resultant of two forces of magnitudes 10 N and 7 N will be :
(A) 17N (B) 10N
(€) TN (D) 3N

The maximum frictional force that comes into play, when a body just tends to move over

‘another body, is called :

(A} Rofling friction (B) Sliding friction

(C) Limiting friction (D) Dynanue friction
Fulerum always lies between load and effort in :

(A) Clasallever (B) ClassIII Lever
(C} ClassIl Lever (D) Cranked lever

If the diameter of a shafi (subjected to torque alone) is doubled, then the maximum horse
power which can be transmitted by the shaft gets increased by :

(A) Twotimes (B} Fourtmes

(C) SixTimes (D) Eighttimes
Which of the following statements is true ?

(A) When transverse strain increases, axial strain also increases

(B} When transverse strain decreases, axial strain also decreases

{C) When transverse strain increases, axial strain decreases

(D) There is no relationship between transvierse strain and axial strain
A turbo machine becomes prone to cavitation, if ;

(A} Temperature exceeds critical value (B} Temperamre falls below a critical value
(C) Pressure falls below a vapour pressure (D) Velocity exceeds a critical value

The Froude number is the ratio of ;

(A} Inertia force 1o pressure force (B) nertia force to surface tension force
{C) Inertia force to gravity force (D) Inertia force W viscous force
Priming is requiredin ;

(A) Reciprocating pump (B} Centrifugal pump

(C) Axial flow pump (D) Rotary pump
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An ideal fluid has '
(A} Zerodensity

(C) Zero specific gravity
Hegen-Poisenille equation is valid for:
(A) Turbulent flow

(&) TdS=dU+pdV
(C) Q=AE+W ) g
Tﬂphphintmnditinnrefeﬂtnuute.whﬂdwﬂﬂ

(A) 3

module 1 module
s < E}} 3 module
() 1.157 module ' e

ohr's circle .
{1:-:}] Mohr's o (M Pitch circle e
Dedendurm . ;
I'i]urlng tensile testing of a specimen using UTM, the parameters
include ,
(A} - True stress and true strain ; _
(B} Engineering stress and engineering st
i) Pﬂisﬁm’ﬁmﬁﬂm:l‘ﬁ::m!g’snmiums
(M Load and elongation
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Interchangeability can be achieved by :

(A) Better process planning (B) Better pruduct planning

(C) Smndardization (D) Simplification

The most suitable theory of failure for brittle materials is :

(A) Maximum normal stress theory (B) Maximurm shear stress theory

(C) Maxirmum distortion energy theory (D) Maximurmn strain energy theory

For resistance spot welding of 1.5 mm thick steel sheets, the current required is about :
{A) 10,000 amp (B) 100amp i

(C) 15amp (D) Samp

The holts in a rigid ﬂugedmﬂngmﬁqmmmﬁh;mm
subjected to

(A} Shear forceand bending moment (B) Axial foroe

(C) Torsion (D) Torsion and bending
Which statement is wrong in respect of lever of class two ?

{A) Mechanical advantage is always greater than one

(B) Load point isin hetween the fulerum and effort point

(C) Efforarm is always smaller than the load arm

(D) Leverageisequal to the ratio of effort arm toload arm

Removal of metal particles from the raceway of a rolling contact bearing is a kind of failure
of bearing known as :

(A) Pitting (B) Weanng

(C) Spalling (D) Scuffing

The gear train usually employed in clocksis

(A) Reverted gear train (B) Simple gear trin
(C) Sunand planet gear (D) Differential gear
While manufacturing gears, a certain minimum number of teeth are kept on a gear wheel :
(A) Sothat the gear is of a good size (B) Forbetter durability
(C) Toavoid interference (D) For better strength
In a fillet welded joint, the weakest area of weld is

(&) Toe (B} Root

{C) Throat I Face
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A cubic crystal system has the following number of space lattices :

(A} 3 {B)

(C) 14 ) 13

Whichyof the following metals has the highest bond energy?

(A) Silver (B) Magnesium

(C) Iron (D) Tungsten

Rockwell hardness test uses :

(A) Depthof penetration of indenter (R) Surface area of indentation

() Projected areaof indentation (D) Height of rebound

Super plastic behavior is ohserved in :

(A) Steel (B)  Alemimm

(C) Class (D) Cement and bncks

How is white cast iron formed ?

{A) Byrapid hesting of gray cast iron {(B) By rapid cooling of gray cast iron
{C) Byrapid heating of ductile cast mon (D) By rapid cooling of ductile cast iron
Which of the following compounds is very soft and duectile?

(A) Femite (B) Cementite

(C) Austenite (D) Pearlite

Gas carhurizing uses :

{A) Sodiwm cyvanide (B) Hydrocarbons

{C) Charcoal (D) Calcium carbide

The blade of 2 power saw is made of ;

(A} High carbon steel (B} Medium carbon steel

{(C) Low carbon stecl (DY) High speed steel

Atomic packing factor for copper erystal is :

{A) 0352 B) 0.68 1
(C) 0.74 (D) 1.633

Gun metal contains :

{A) Copper, Tinand Zinc (B)  Alurminium, Tinand Zne

(C) Lead, Tin and Zinc (D) Copper, Tin and Manganese

M.E. (Mechanical Engineering)/BGL-31135-A
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37. Coated HSS contains a thin layer of :

{A) Cobaltcarbide (B) Copper carbide
(C) Titamum mtnide (D) Vanadium nimide
38. Which of the following materials require minimum compaction pressure?
(A) Brass (®) Iron
(C) Bronze (D) Alrinium
39. Upper pariof a moulding flask is called :
(A) Cope (B) Drag
(C) Sprue (D) Cheek
40. A cupola furnace can produce a maximum temperature of around :
(A) 500 degree Celsius (B) 1000 degree Celsius
(C) 1600 degree Celsius (D) 3200 degree Celsius
41. Tool signature consisis of :
(A) Fiveelements (B) Sixeiements
{C) Sevenelements (D) Eightelements

421. Fusion process is very similar to :
{(A) Spmrmng (B) Forging
(C) Casting (1Y) Raolling

43, Which of the following welding processes finds extensive applications in automabile

industry?

(A} TIG welding B) MIGwelding

(C) SAW (D) Resistance weldmg
44. Heaft affected Zone is minimmuam in :

{A) Gaswelding (B} Laserwelding

(C) Arcwelding (D) Thermit welding
45. Presence of Sulphur in welded joints increases its :

(A) Bottleness (B) Ductlity

(€) Toughness (D) Strength

MLE. (Mechanical EngineeringVBGT-31135-A [Turnover
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46. LASER stands for :
(A) Light Amplification by Simulated Emission of radiation
(B) Light Amplitude by Simulated Emission of radiation
(€) Light Amplitade by Stmulated Emission of radiation
(D) Light Amplification by Stimulated Emission of radiation
47, Thin Aluminium sheets can be welded by :

(A) MIGwelling (B) TIGwelding
{C) Resistance welding (D) Submerged arc welding
48, Carburizing flame contains excess of :
(A) Ethylene (B) Propylene
(C) Methylene (D) Acetylene
49, Which of the following materials require lubricant when hot extruded?
(A) Steel (B) Zmc
(C) Tm (D) Magnesium
50, Twin electrode carbon are welding uses :
(A) Straight polarity DC (B) Reversepolarity DC
(Cy AC (D) Pulsed AC
51. Turning produces :
(A) Sguarcshapes {B) Triangularshapes
{C) Rectanguler shapes (D) Cylindrical shapes
52. Inreaming process:
(A) Highmetal removal rate is obtained {B) High surface finish is obtmned
(C) High dimensional accuracy is obtamed (D) High form accuracy is obtained
53. The design of a riser is based on :
({A) Bemoulli's theorem (B) Contimwty equation
{C) Chvorinov's nule (D) Viscosity law
54. The included angle of V-block is : il
(A) 45degres (B) 60degres
(C) 90degree (D) 120degee

MLE. (Mechanical EnginceringVBGT-31138-A
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55. The Metal Removal Rate (MRR) in drilling is
(A) Dwrectly proportional to the drill diameter
(B) Directly proportional to the square of the dnll diameter
(C) Inversely proportional to the dnll diameter
(D) Inversely proportional to the square of the drill diameter

56. A moving mandrel is used in :

(A} Tubedrawing (B} Wiredrawing
(C) Forging (D) Metal cutting
57. PLC stands for :
{A) Proportionate Logic Control (B} Programmable Logic Control
(C) Proportionate Level Control (D) Programmable Level Control
58. Thespecific speed of a hydraulic pump is the speed of geometrically similar pump working
against a unit head and :
(A) Delivering umit quantity of water (B) Consuming unit pawer
{C) Having umit velogity of flow (D) Having umit radial velocity
59. The tolerance of grade 6 is obtained by ;
(A) Diecasting (B) Turmning on capstan and turret lathes
() Grmding (D) Sand casting
60. The reliahility factor for using 50% reliability in design is :
(A) 1 (B) 0.868
(C) 0.5 (D) 0.814

6l. Wet bulb temperature is ;

{A) Indication ol moisture content in air (B) Sameassaturation temperature

(C) Indication of performance of A.C. system (D)  Indication of performance of heat purnp
62. Which of the following processes results in the best accuracy of the hole made?

(A) Dnlling (B) Reaming
(C) Broaching (D) Boring
63. Inwater jet machining, typical value of stand-off distance fs :
{A) 25.0mm (B) 10.5mm
(C) 15.5mm (D) 32mm
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‘The stroke of an LC. engine is nsually :

One-halfof crank radius
Thrice the crank radius

14.6
10.96

prich diameter

Effactive diameter

| 00 oar
1 000 bar

2.5 kW
435kW

30 degree Celsius DBT and 30
16 degree Celstus DBT and 80

T flue tubes
Four flue tubes

(4) Equaltocrankradius (B
(C) Twiccthe crank radus (e
The highest useful compression ratio of Benzene is
(A) 5 (B)
(C) 820 (D)
The inside diameter of cylinder of an engine is called :
(A) Nominal dismeter (B}
(C) Bore ()
Maximum delivery pressure in reciproeating compressors can be:
(A) 50 bar (B)
(C) 500 har ()
One ton of refrigeration is equal to:

(A) 100 KW B)
(C) I5kW (D)
Comfort condition for human body is :

(A) 24 degree Celsius DBT and 70% RH (B)
() 24 degree Celsius DBT and 60% RH o
L ancashire boiler usually consiss of :

(A) One flue mbe (B)
(7 Three fluc tobes (2
What is the function of differcntial in automobiles 7

(A) Trallowsrear wheel movernent

(B) It permits two rear-wheels to run independently
(C) ltreduces apﬂﬁiﬂfpfﬂ'pﬂun' shaft to suit the requitamenmf wheel axes

(D) Tipermits two rear wheels to have flexib

In a tractor, the springs provided for the rear wheels are :

NLE. (Mechanbeal Fngineering) BGI-31135-A
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Which gears are not used in the final drive gearing system?

(A) Spur (B) Straightbevel

(C) Hypoid (D) Spiral

Fluidics is related to :

(A} Fluid flow theough larpe pipes (B} Control technology

(C) Fhnd storage in cylindrical vessels (D)  Analysis of hud properties

A company has an annual demand of 1000 units, ordering cost of Rs. 100 per order and
carrying cost of Rs. 100 per unit year. If the stock-out costs are estimated to be nearly Rs,
400 cach time the company runs out of stock, the safety stock justified by the carrying cost
will be :

(A) 4 (B) 20
(C) 40 (D) 100

MLE. (Mechanicul EngineeringVBGI-31135A 11



